

Two boats, the Prada (Italy) and the Oracle (USA), area competing for a spot in the upcoming America’s Cup race.  They race over a part of the course several times.  Below are the sample times in minutes.  At the .05 significance level, can we conclude that there is a difference in their mean times?  (textbook problem 11-38).

	Prada
	Oracle

	12.9
	14.1

	12.5
	14.1

	11.0
	14.2

	13.3
	17.4

	11.2
	15.8

	11.4
	16.7

	11.6
	16.1

	   12.3
	   13.3

	   14.2
	   13.4

	   11.3
	   13.6

	
	   10.8

	
	   19.0


a.
State the null and alternate hypotheses.



H0:




H1: 


b. What is the level of significance?

c. State the Critical Value.
d.
State the decision rule.

e.
Compute the value of the test statistic.

f.
Formulate the decision rule.

g.
Compute the p-value.

h.
What is your decision regarding the null hypothesis? 


The President and CEO of Cliff Hanger International Airlines is concerned about high cholesterol levels of the pilots. In an attempt to improve the situation a sample of seven pilots is selected to take part in a special program, in which each pilot is given a special diet by the company physician. After six months each pilot’s cholesterol level is checked again. At the 0.01 significance level can we conclude that the program was effective in reducing cholesterol levels?

	Pilot
	Before
	After
	d
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	1
	255
	210
	
	
	

	2
	230
	225
	
	
	

	3
	290
	215
	
	
	

	4
	242
	215
	
	
	

	5
	300
	240
	
	
	

	6
	250
	235
	
	
	

	7
	215
	190
	
	
	

	
	
	
	
	
	


a.
State the null and alternate hypotheses.



H0:




H1: 


b. What is the level of significance?

c. State the Critical Value.
d.
State the decision rule.

e.
Compute the value of the test statistic.

f.
Formulate the decision rule.

g.
Compute the p-value.

h.
What is your decision regarding the null hypothesis? 
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